
 
 

 

 :2022מועד נבצרים  218פתרון שאלון 

 

 .₪ 230  א.  ( 1

 כסאות. 4ב.        

 

 IIגרף   .(  א2

 ק"מ. 12הקבוצה המהירה במרחק   ב.     

 ק"מ. 2הקבוצה האיטית במרחק           

 11:30  ג.     

 .ק"מ 6  ד.     

 

 חש" 6,040א.  ( 3

 .₪ 6,440 .ב     

 .₪ 74,640 .ג     

   

 A(4,0)   .(  א4

 c y =5  .1ב     

 cx  =14  .2ב     

 BC= 8  .1ג     

 D(12,0)  .2ג     

 

 °56.251א. (  5

 = ACס"מ  7.483. ב     

 = CDס"מ  1.648.  ג     

 = ADס"מ  5.835ד.      

 

 

 

 



 
 

 

 

 תלמידים. 35.  (  א6

 76.857  ב.     

   ג.     
16

35
 

   ד.     
4

35
 

   ה.     
3
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